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'HDQW\�0RQLWD�������������������3HUDQDQ�5XPDK�7DKILG]�1DJDUL�
6XQJD\DQJ�7HUKDGDS�3HPEHQWXNDQ�
.DUDNWHU�6LVZD�GL�1DJDUL�6XQJD\DQJ�

3HQGLGLNDQ�.DUDNWHU�SDGD��VHRUDQJ�DQDN�SHUOX�GLWDQDPNDQ�VHMDN�XVLD�GLQL��
'HQJDQ� DGDQ\D� UXPDK� WDKILG]� GDSDW� PHPEDQWX� GDODP� � SHPEHQWXNDQ� NDUDNWHU�
SDGD�DQDN EHUWXMXDQ�DJDU�PDV\DUDNDW�PHQJHWDKXL� DGDQ\D�SHUDQDQ� UXPDK� WDKILG]�
WHUKDGDS� SHPEHQWXNDQ� NDUDNWHU� DQDN�� 'DWD� SHQHOLWLDQ� GLNXPSXONDQ� GHQJDQ�
REVHUYDVL�� ZDZDQFDUD� GDQ� VWXGL� DQDOLVLV� GDWD� PHQJJXQNDQ� ODQJNDK�ODQJNDK�
SHQJHORODKDQ� GDWD� NXDOLWDWLI�� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� SHQGHNDWDQ� NXDOLWDWLI�
GHQJDQ�LQIRUPDQ���RUDQJ��\DQJ�GLSLOLK�VHFDUD�SXUSRVLYH��

+DVLO�SHQHOLWLDQ�PHQXQMXNNDQ�EDKZD�DGD�� PHWRGH GDQ�QLODL�QLODL�NDUDNWHU
\DQJ� GL� JXQDNDQ� UXPDK� WDKILG]� XQWXN� PHPELQD� NDUDNWHU� DQDN�� 3HPEHQWXNDQ�
NDUDNWHU� DQDN� GHQJDQ� SHPEHODMDUDQ� WDKILG]� DO�TXUDQ�� PXUDMD¶DK GDQ� DO�TRVLPL��
'HQJDQ�SHQDQDPDQ�QLODL�SHQGLGLNDQ�NDUDNWHU�VHSHUWL�QLODL�UHOLJLXV��MXMXU��WROHUDQVL��
GLVLSOLQ�� GDQ� NHUMD� NHUDV�� � 0DND� GDUL� SDGD� LWX� SHUDQDQ� UXPDK� WDKILG]� VDQJDW�
PHPEDQWX�XQWXN�SHPEHQWXNDQ�NDUDNWHU�DQDN�DJDU�PHQMDGL�SULEDGL�\DQJ�OHELK�EDLN�
GDQ� EHUPDQIDDW� EDLN� XQWXN� GLUL� VHQGLUL�� RUDQJ� WXD� PDXSXQ� PDV\DUDNDW�� 'DSDW�
GLVLPSXONDQ� EDKZD� SHUDQDQ� UXPDK� WDKILG]� VDQJDW� PHPEDQWX� GDQ� VDQJDW�
GLEXWXKNDQ�VHEDJDL�SHQGLGLNDQ�WDPEDKDQ�XQWXN�SHPEHQWXNDQ�NDUDNWHU�DQDN��
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